
Electrical Plate Replacement  Kit 2103022  
For Brewer Assist Power Table

Document No. 2103038 RevA

	Description				    Qty.
	Electrical Plate			   1
	Power Inlet				    1
	Screw, 1/4-20 			   2
Screw, 6-32 				    2
Nut, 6-32				    2

The Brewer Company, LLC
N88 W13901 Main Street, Suite 100
Menomonee Falls, WI 53051
P  1.888.BREWER.1
F  1.262.251.2332
www.brewercompany.com

DANGER
Always disconnect the power cord from the wall out-
let before performing service on the table to prevent 
electrical shock. Failure to do so could result in severe 
personal injury or death.

WARNING
Refer to the Operator’s Manual supplied with the unit 
for complete instructions on operation.  Failure to do 
so could result in personal injury.



Electrical Plate Replacement  Kit 2103022  
For Brewer Assist Power Table

Document No. 2103038 RevA

2.	Remove the two screws that secure the electrical plate to the table base.

TOOLS REQUIRED:
	3/8” Nut Driver

	5/64” Allen Wrench or Phillips Screwdriver

	4” x 4” Block of Wood

1.	Tip table slightly and place a 4” x 4” block under-
neath base as shown.  CAUTION:  At least 2 
people are required for this step.

3.	Remove three wires connected to the power inlet.



Electrical Plate Replacement  Kit 2103022  
For Brewer Assist Power Table

Document No. 2103038 RevA

4.Remove the two screws that secure the foot control connector to the table base.

5.	Remove electrical plate from table and discard.

6.	Attach foot control connector to new electrical 
plate.

7.	Reattach three wires to new power inlet.  Be sure 
to orientate wires as shown.

8.	Attach new plate to table base.

9.	Carefully remove 4” x 4” wood block and set table 
gently on floor.


